Spring '07/MAT 117/Worksheet 2  Name: Sﬂ?g‘”"H"“" Show all your work.

1. (4pts) Jill deposited 5500 in an account bearing a simple annual interest rate of 5.4%.
If this deposit grows to $575, how long was it in the account?
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2. (6pts) What is a better deal on a certificate of deposit:

a) an account earning 3.65%. compounded daily, or

b) an account earning 3.71%. compounded monthly?
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3. (dpts) A family that would like to buy an §18500 car plans to save for it over 3 years
by depositing money every week into an account bearing 6%, compounded weekly. What
should be the amount 01 [ht" deposit?

— f

|
o WralE T
= & 7 =308 20 weekel

)5}. 3
| (!J"Ih q"]_ _1
|81§Uﬂ = D 0,06

T

19, o~ D- 70,8 .

| g, Sao D

——— =

['70.%l_



4. (Tpts) Today, you buy the stock of Oracle corporation at 520 per share. You hope to
sell it in 3 vears at 535 per share. What annual compound interest rate would this growth

correspond to? ¢
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5. (8pts) Jeremy decides to set up a college fund for his newhorn, If he can deposit $200
every manth into an account bearing 7.2%, compounded monthly. how long will it take until
there is $50,000 in the account?
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